Cross-Topic Question:
What is the period and amplitude of y =k cos” x —k sin” x
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If sin@ = —% and 377[ < 6@ < 2x find the exact value of:
a. Draw the angle in Find the exact value Find the exact value
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In Calculus (which is really why this whole unit exists © ) we will also write our cos 26 identities

in terms of sine or cosine.

Solve for cos® @: cos280 =2cos>6—1 Solve for sin*@: cos280=1-2sin’ 8
« g — — e
1o - g0 = | = ces( >
Cos'0 = Cos(26) £). T s
P —

Find an expression that is equivalent to sin (7 —2x)
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Verify:| 2sin’® x —sin x = —cos (2x)
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tanx _ 2cosx—2cos’ x

Prove: = -
secx+1 sin 2x
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